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QID : 1 - Which of the following statement(s) is/are TRUE?

I.333> 3%
II. 333 > (33)3

Trafaf@a & o Fi9 a1/ sy a7 §/8?

I.333 > 333

II. 333 > (33)3
Options:

1) Only I

Fad I

2) Only II

Fad 11

3) Both I and II

I g 11 et

4) Neither I nor II
FATITEII
Correct Answer: Neither I nor II

TANITEI

Candidate Answer: Neither I nor II

ANIFANI

QID:2-IfP=22+62+10%+ 142 + ... 942 and Q = 12+ 52 + 92 + ... 812, then what is the value of P — Q?

AP =22+62+102+14%+ .. 942 Q=12+ 52+ 92 + 812 & AT P — Q T AT FAT&?

Options:
1) 24645
2) 26075
3) 29317
4) 31515
Correct Answer: 26075

Candidate Answer: [ NOT ANSWERED ]

QID: 3 -If A =(1/0.4) + (1/0.04) + (1/0.004) + ... upto 8 terms, then what is the value of A?

e A = (1/0.4) + (1/0.04) + (1/0.004) + ... 8 Uel dh &, AY A T AT FaT §?
Options:

1) 27272727.5

2) 25252525.5

3) 27777777.5

4) 25555555.5

Correct Answer: 27777777.5

Candidate Answer: 27272727.5

QID:4-IfM=0.1+ (0.1)2 + (0.01)2and N = 0.3 + (0.03)2 + (0.003)2, then what is the value of M + N?

e M = 0.1 + (0.1)2 + (0.01)2 FAT N = 0.3 + (0.03)2 + (0.003)2 &, AT M + N T #IeT &1 §7?

Options:

1) 0.411009
2) 0.413131
3) 0.313131
4) 0.131313
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Correct Answer: 0.411009
Candidate Answer: 0.411009

QID:5-

F P 96 9f 1

B = and R =—,
95 x 97 96 x 98 97

then which of the following is TRUE?

96 97 1
= B TR
T P 5597 T 608 97

g o =T # ¥ a9 I gea &2

Options:

1) P<Q<R
2)R<Q<P
3)Q<P<R
4)R<P<Q

Correct Answer: R < Q <P
Candidate Answer: R <P < Q
QID:6-
Which of the following statement(s) is/are
TRUE?
. il gl 51 983
2 4 5 10 20
9 11 12
= =
1078 1127 1219
149 153 157

> hy
151 155 139

Arafaf@a 7 ¥ slg 9y Faa I

tle?
1 .30 1,1 439

L MatIT AT e
27 4G5/ 10 20

9 11 12
> >
1078 1127 1219
149 153 157
> >
151 1585 159

Options:
1) Only I
Hae I

2) Only II
Fad I

3) Only IIL
el 111

4) None is true.

IS G T &
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Correct Answer: Only I

Fad I
Candidate Answer: Only I
Fad I
QID:7-
Which of the following statement(s) is/are
TRUE?
2 3 5
<z <z
345 245 443
3 2 7

2ﬁ<3ﬁ<4£

A=ef@a #§ ¥ si9 g/d $37 I
ere?
2 3 5

< <
35 2.5 4.3
3 2 i

2\E<3\/§<4\/5

Options:

1) Only I

Fael

2) Only II

Sae 11

3) Both I and II

I @ 11 gt

4) Neither I nor II
FATITEII
Correct Answer: Only I
Sad I

Candidate Answer: Only I
Fael I

QID : 8 - Which of the following statement(s) is/are TRUE?

I. The total number of positive factors of 72'is 12.
II. The sum of first 20 odd numbers is 400.
III. Largest two digit prime number is 97.

AFATATRT F § et /8 FAT T /8?2

L 72 & el 12 UellcHe 0TS g

IL. 92T 20 fwe TEanait &1 I1eT 400 |
IIL. &1 3ehT T T T8 37T T&AT 97 ¥
Options:

1) Only I'and II

Fgel [ g 11

2) Only IT and III

el 1T T 111

3) Only I and III

Sder I T 111

4) All are true.

T T £
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Correct Answer: All are true.
T T B
Candidate Answer: [ NOT ANSWERED ]

QID:9-If M= (3/7) + (6/5) x (2/3) + (1/5) x (3/2) and N = (2/5) x (5/6) + (1/3) + (3/5) x (2/3) + (3/5), then what is the value of M/N?

e M = (3/7) + (6/5) x (2/3) + (1/5) x (3/2) auT N = (2/5) x (5/6) + (1/3) + (3/5) x (2/3) + (3/5) &, A M/N T HIF T §?
Options:

1) 207/560

2) 339/1120

3) 113/350

4) 69/175

Correct Answer: 113/350

Candidate Answer: 113/350

QID: 10 - M is the largest 4 digit number, which when divided by 4, 5, 6 and 7 leaves remainder as 2, 3, 4, and 5 respectively. What will be the remainder when M

is divided by 9?

M, 4 37ehT T T I3 TEAT 8, 5T 4, 5, 6 AT 7 T [IfHT aar W AVheT vaer: 2, 3, 4 TAT5 AT &1 I M Fr 9 & anfoa forar I, ar Awwer 747 gem?

Options:

1)2

2)1

3)3

4)6

Correct Answer: 1
Candidate Answer: 1

QID : 11 - Which of the following statement(s) is/are TRUE?

I. V11 + V7 < V10 + V8.
IL. V17 + V11 > V15 + V13

Fafaf@a & o FiF T/ Fu a7 §/87?

I. V11 + V7 < V10 + V8.
II. V17 + V11 > V15 + V13
Options:

1) Only I

Fad I

2) Only II

Fhael 11

3) Both I and II

I g 11 et

4) Neither I nor II
FAAIAEI

Correct Answer: Only I

Fad
Candidate Answer: [ NOT ANSWERED ]

QID:12-
Which of the following statement(s) is/are TRUE?

. J12>316 > %24
. 325 =432 - 548
N. 49-315- 424

A=f@a 7 ¥ o9 arg 39 9T §8?

. J12>316 > 424
. 325432 %48
N. 49355824
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Options:
1) Only I and II
Shaer I T 11
2) Only I and III
Shaer I 9T 111
3)Only I
Fad I
4) All are true.
el e €1
Correct Answer: Only I and II

el [ qam 11
Candidate Answer: [ NOT ANSWERED ]

QID:13-Ifx +y + z=22and xy + yz + zx = 35, then what is the value of X=y)2 + (y-2)2 + (z-x)2?

IR x+y+z=22aUxy +yz+2x =358, A (x—y)2 + (y—2)2 + (z — x)% I &7 &1 §?

Options:

1) 793

2) 681

3) 758

4) 715

Correct Answer: 758

Candidate Answer: 715

QID: 14 - If (x + y)/z = 2, then what is the value of [y/(y — 2)] + [X/(x — 2)]?

T (X +y)/z =28, @ [y/(y - 2)] + [X/(x — 2)] 1 AT 2T §?
Options:

1)0

2)1

3)2

4)-1

Correct Answer: 2

Candidate Answer: 2

QID : 15 - If ¢ and B are the roots of equation x2 — 2x + 4 = 0, then what is the equation whose roots are a3/p2 and B3/a%?

T a AT B FHEOT X% — 2x + 4 = 0 & 7T §, A Ig THH0r FA1 § o HeT a3/p2 ar p3/a? §2
Options:

1)x¥-4x+8=0

2)2-32x+4=0

3)x¥-2x+4=0

4)¥°-16x+4=0

Correct Answer: X2 -2 x+4=0

Candidate Answer: [ NOT ANSWERED ]

QID : 16 - If one root of the equation Ax% +Bx + C = 0 is two and a half times the others, then which of the following is TRUE?

Iy FfieoT Ax? +Bx + C = 0 T Teh e G & a1$ 0T &, A frfaf@a 7 & #ia @ aer 87
Options:

1) 7B2 = 3 CA

2)7B2 = 4 CA

3)7B2=36CA

4) 10B2 = 49 CA

Correct Answer: 10BZ = 49 CA

Candidate Answer: 7B% = 4 CA

QID : 17 - If X2 — 12x + 33 = 0, then what is the value of (x — 4)2 + [1/(x — 4)2]?

e x2 - 12x + 33 = 0§, aF (x — 4)2 + [1/(X — 4)2] &1 AT F27 &2
Options:

1) 16

2) 14

3) 18

4) 20

Correct Answer: 14
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Candidate Answer: [ NOT ANSWERED ]

QID: 18 - If a* + 1 = [a/b?] (4b% — b* — 1), then what is the value of a* + b*?

afeat + 1 = [a%/b?] (4b2 - b* - 1) }, Ara® + b* @ AT FAT &2
Options:

1)2

2) 16

3)32

4) 64

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID: 19 -

i 3 fﬂ +9:19—3|/i, then what is the
= 1-a

value of a7

11‘1%3,/ 9193 %HT&H

:m?ramtk?

Options:

1) 3/10, 7/10

2) 1/10, 9/10

3) 2/5, 3/5

4) 1/5, 4/5

Correct Answer: 1/10, 9/10

Candidate Answer: [ NOT ANSWERED ]

QID: 20 -

If a+ bh=10and \E—B:—\E—H,then
b a

what is the value of 3ab + 4a2 + 5b2?

gfd a+b=10 qr \E—B:—\E—H g

ar 3ab +4a2 + 5b? &T AT F4T g7

Options:

1) 450

2) 300

3) 600

4) 750

Correct Answer: 300

Candidate Answer: [ NOT ANSWERED ]

QID:21-If3x+4y—-2z+9=17,7x + 2y + 11z + 8 = 23 and 5x + 9y + 6z — 4 = 18, then what is the value of x + y + z — 34?

I 3x+4y—-22+9=17,7x + 2y + 11z + 8 =23 AT 5x + 9y + 62— 4 = 18§, AV x + y + z — 34 FT AT FAT §?

Options:
1)-28
2)-14
3)-31
4)-45
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Correct Answer: — 31
Candidate Answer: — 31

QID:22-

If x+3y—24—z:6, x+§(2y+3z)=33 and

;(x+y+z)+22:9, then what is the

value of 46x + 131y?

afe x+3y—24—2:6, x+§(2y+3z)=33

e ;(x+y+z)+22:9 g, dI 46x +
131y T HIA 4T 87

Options:
1) 414
2) 364
3) 384
4) 464

Correct Answer: 414
Candidate Answer: 464

QID: 23-

In the given figure, in triangle STU, ST=8 cm,
TU=9cmand SU=12 ecm. QU= 24 cm, SR
=32 cm and PT = 27 cm. What is the ratio of
the area of triangle PQU and area of triangle
PTR?

& TS el H, YT STU A, ST = 8
¥, TU=9 T Tur SU=12 T E
QU =24 AT, SR=32 . a1 PT =27
aAr § Besr PQU & EERel dum T
PTR & &19%hol & FT 39T 87

P

Options:

1)1:1

2)1:4

3)2:3

4)5:2

Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED ]
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QID: 24 -
In triangle XYZ, G is the centroid. If XY = 11
cm, YZ =14 cm and XZ = 7 cm, then what
is the value (in cm) of GM?

Pt XYz #, G &waw 81 Al Xy = 11
AL, YZ = 14 #/. qar XZ = 7 ¥.#.
g, dl GM & A (WAL #H) Fa7 82

X

Options:

1)6

2)4

3)2

4)3

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID: 25-
In the given figure, PQRS is a sguare
inscribed in a circle of radius 4 cm. PQ is
produced till point Y. Frem Y a tangent is
drawn to the circle at point R. What is the

length (in cm) of SY?

& 7% ampfa A, PQRS, 4 A, fwwr aa
U ged H 3fpd wF o g1 PQ F faeg Y
% 9T T Bl ged WY W faeg R W
TF Toer Y@r @il Yy g1 SY fr avers
(T #) Fr &2

S/_\R

0

P~—___~Q ™

Options:
1) 4vV10
2) 2v10
3) 6V10
4) 3v5
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Correct Answer: 4v10
Candidate Answer: 6v10

QID : 26 - In a trapezium, one diagonal divides the other in the ratio 2 : 9. If the length of the larger of the two parallel sides is 45 cm, then what is the length (in
cm) of the other parallel side?

Teh GHACES H, T 3ol g@¥ faehol &1 2 1 9 & Hequrel & faeniord e &1 AT aF FAier ofm3il & & Ha& 87 ol T ofFars 45 .. &, A gl GAIR 3T Hr oears
@7 F) Fr e

Options:

1) 10

2)5

3)18

4) 14

Correct Answer: 10
Candidate Answer: 5

QID: 27 -
In the given figure, CD and AB are diameters of
circle and AB and CD are perpendicular to each
other. LQ and SR are perpendiculars to AB and
CD respectively. Radius of circle is 5 cm, PB :
PA=2:3and CN: ND = 2 : 3. What is the
length (in cm) of SM?

& a1 i &, CD qU AB ged & =urw ¥

duT AB d4T CD Teh g@Y 9T oFd g1 LQ T

SR HHA: AB T CD W oFd gl Jed ol

rear 5 AL &, PB: PA=2:3 @uT CN:ND

=2:3 g SM & oFars (§.A. #7) 71 872
cQ

Ll
B

)

AN,

Options:

1) [(5V3) - 3]

2) [(4V3)-2]

3) [(2v5) - 1]

4) [(2v6) - 1]

Correct Answer: [(2V6) — 1]
Candidate Answer: [ NOT ANSWERED ]
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QID: 28 -
In the given figure, PQRS is a square of side
20 cm and SR is extended to point T. If the
length of QT is 25 cm, then what is the

distance (in cm) between the centres O, and
O, of the two circles?

ar a1 3mefd A, PQRS, 20 WA o el
T J § a°T SR # fawvg T a% aerar wmaw
3 afe QT & wFars 25 4 B ot
Jedl & Fem O TAT O, & AT & g
(&3 #) Fr 8?2

/\
\ /\92

Options:

1) 5V10

2) 4/10

3) 8v5

4) 16V2

Correct Answer: 5v10

Candidate Answer: [ NOT ANSWERED ]

QID:29-
In the given figure, MNOP is a square of
side 6 cm. What is the value (in cm). of
radius of circle?

& T Ipfa HA, MNOR, 6 JHY. sfam
ardl ek g g god B Premm @ A=

(& #) Far g7

P 0]
C /

M N

Options:

1) 4.25

2)3.75

3)35

4) 4.55
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Correct Answer: 3.75
Candidate Answer: [ NOT ANSWERED ]

QID: 30-
In the given figure, triangle PQR is a right
angled friangle at Q. If PQ =35 cm and QS
= 28 cm, then what is the value (in cm) of
SR?

& 7§l A, BRIT POR, Q W @
AT eI 81 I PQ = 35 JAT Fer
QS =28 ¥ & a SR & #AT (FA
) 47 872

P

Options:
1) 35.33
2)37.33
3)41.33
4) 43.33

Correct Answer: 37.33
Candidate Answer: [ NOT ANSWERED ]

QID:31-

In the given figure, P is the centre of the
circle. If QS = PR, then what is the ratio of
ZRSP to the A TPR?

& T P A, P Iod @ Fed g1 IR
QS = PR @&, d /RSP & /TPR & &1

3T 82

Options:

1)1:4

2)2:5

3)1:3

4)2:7

Correct Answer: 1: 3
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Candidate Answer: [ NOT ANSWERED ]

QID : 32 - The distance between the centres of two circles is 61 cm and their radii are 35 cm and 24 cm. What is the length (in cm) of the direct common tangent
to the circles?

2 gedl & Fheal & HET T g 61 WA § FUT 33 Breard 35 WA, qur 24 A §) gedl 1 337afres IegEael Y@ A dwars (@A 7) Far g?

Options:

1) 60

2) 54

3) 48

4)72

Correct Answer: 60

Candidate Answer: [ NOT ANSWERED ]

QID: 33-
In the given figure, PQRS is a quadrilateral.
If QR =18 cm and PS =9 cm, then what is
the area (in cm?) of quadrilateral PQRS?

& % 3MFHfT #, PQRS T I &1 I
QR =18 §.H. dqur PS=9 THL g a

Options:

1) (64v3)/3

2) (177V3)/2

3) (135v3)/2

4) (98V3)/3

Correct Answer: (135V/3)/2

Candidate Answer: [ NOT ANSWERED ]

QID : 34 - PQR is a triangle, whose area is 180 cm?. S is a point on side QR, such that PS is the angle bisector of 2QPR. If PQ : PR = 2 : 3, then what is the area (in
cm?) triangle PSR?

PQR e fefst 8, foreaT arawer 180 .32 €1 S, 3T QR WX U e 3 W ¢ foh PS, ZQPR TR VT &fdsmierah &1 AfG PQ : PR = 2 : 3 ¥, o Frefst PSR &7 ataher
@A2H) FE?

Options:

1) 90

2) 108

3) 144

4) 72

Correct Answer: 108

Candidate Answer: [ NOT ANSWERED ]
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QID:35-

In the given figure, ABCD is a square. EFGH is a

square formed by joining mid points of sides of

ABCD. LMNO is a square formed by joining mid

points of sides of EFGH. A circle is inscribed inside

EFGH. If area of circle is 38.5 cm?, then what is the

area (in cm?) of square ABCD?

& % sgpfy # ABCD ws =9 g1 ABCD #
st & Few Taegal F1 SIS T T EFGH
FARN AT F EFGH #r [t F Few Taegat =
AT TF T LMNO FATIT TRT §1 Ok ged H
T EFGH & g Brar am & afy 39 =
g Fe 385 WAT? & & I ABCD FT &I

(@2 H) Fr &7
A E B
L M
N
F G
N o/
Q N
D m [
Options:
1) 98
2) 196
3) 122.5
4)171.5

Correct Answer: 196
Candidate Answer: [ NOT ANSWERED ]

QID : 36 - ABCDEF is a regular hexagon of side 12 cm. What is the area (in cm?) of the triangle ECD?

ABCDEF 12 .. 35T aTelT Teh §F Vs &1 F87eT ECD 7 a3t (8.781.2 ) Fm 82

Options:

1) 18V3

2) 24v/3

3) 36V3

4) 42V3

Correct Answer: 363
Candidate Answer: 363

QID : 37 - PQRS is a square whose side is 16 cm. What is the value of the side (in cm) of the largest regular octagon that can be cut from the given square?

PQRS, 16 A.7Y. 8T aTell Teh 3T ¢ | fadr I3 @aT & 1S ST Fehel ATel Ferll 93 HA 7SI hT [T T A1l (V.. &) . §?
Options:

1)8-4v2

2) 16 + 8v2

3) 16vV2 - V16

4) 16 - 8v2

Correct Answer: 16v2 - V16

Candidate Answer: [ NOT ANSWERED ]
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QID: 38 -
In the given figure, PQRS is a rectangle and
a semicircle with SR as diameter is drawn.

A circle is drawn as shown in the figure. If
QR = 7 cm, then what is the radius (in cm)

of the small circle?

&1 T2 IMHId A, PQRS U AT § aur
SR TUTH TIeT UH IRl ST AT g
ST fof i & quiem wm g % v
god ST T Bl A QR =7 §AL §, ar
BIE ged H Bwr (@A A7) Far g7

P <Q
S R

Options:

1) 21 + 142

2) 21— 14v2

3) Both 21 + 14v2 and 21 - 142

21 + 14V2 qu1 21 - 14V2 gt

4) None of these

SAH A FIg TG

Correct Answer: 21 — 142

Candidate Answer: [ NOT ANSWERED ]

QID:39-
In the given figure, PQR is a_quadrant
whose radius is 7 cm. A circle is inscribed in
the quadrant as shown in the figure. What is
the area (in cm?) of the circle?

& % WP #, PQR T Jed-@US §
S fsar 7 .48 81 3w & amefa &
cfar = § fF gea-@vs # wF gead @
Jfehd TR 91T &1 god &1 &T%e (F.HY.2
H) #1872

A

Q R

http:/thepracticetest.in/cs_cglet2_18lrdsponshl @aedtionbpha?ddsjsnt codb=10ar_a=mjmintjvanTg=e Siipio=h358052d74107fc05177712c90c3885¢



4/13/2018 Download More Papers $tafiSelectionGontmisiot Jobs Alert.In

Options:

1) 385 - 221v2
2) 308 — 154v/2
3) 154 - 772
4) 462 - 308V2

Correct Answer: 462 — 308v?2
Candidate Answer: [ NOT ANSWERED ]

QID : 40 - A prism has a regular hexagonal base with side 6 cm. If the total surface area of prism is 216v3 cm?, then what is the height (in cm) of prism?

e IS &1 IR, T 6 F.37. T aren FAYCHS 1 e RIw &1 ot IS arawher 216v3 F.3.2 §, A Riowr &1 owars (dafh. ) @ 2

Options:

1)3v3

2) 6V3

3)6

4)3

Correct Answer: 33

Candidate Answer: [ NOT ANSWERED ]

QID : 41 - The radius of base of solid cone is 9 cm and its height is 21 cm. It cut into 3 parts by two cuts, which are parallel to its base. The cuts are at height of 7
cm and 14 cm from the base respectively. What is the ratio of curved surface areas of top, middle and bottom parts respectively?

Teh BN 9% o IR T o 9 Q.. § our 3uehr 37em$ 21 .. §1 58 &) erd, S TUR & A § & 3 H1 # HIer I1G7| Held 3R & shaer: 7 . Jur 14
QA & IS W | FAEU: SN, AT TAT e H191 & Fsh ST S Tthel T AT 7 82

Options:

1)1:4:8

2)1:3:5

3)1:3:9

4)1:6:12

Correct Answer: 1:3:5

Candidate Answer: [ NOT ANSWERED ]

QID : 42 - Aright circular cylinder has height as 18 cm and radius as 7 cm. The cylinder is cut in three equal parts (by 2 cuts parallel to base). What is the
percentage increase in total surface area?

Teh oSl ISR SoleT &l oaTs 18 T, TuT s 7 .. §| Sofel 31 el ST AT 3 FH1eT STl § (3R & FHieR 2 FHerd EaRT) | Fol TS S7thel & fohctat
wfcrere 1 g7 gs &2

Options:

1) 62

2) 56

3) 48

4)52

Correct Answer: 56

Candidate Answer: 56

QID : 43 - The ratio of curved surface area and volume of a cylinder is 1 : 7. The ratio of total surface area and volume is 187 : 770. What is the respective ratio of
its base radius and height?

Teh el o dsh YSOIT &Tthel TTUT 3TTclel ol 30Tl 1 @ 7 §| Frol YSSIT &Tthel AT 3TAcTeT oh 3FeIdTeT 187 770 &1 38 TR HT AT TAT 1S FHAL: 0T FT 872
Options:

1)5:8

2)4:9

3)3:7

4)7:10

Correct Answer: 7 : 10

Candidate Answer: 7 : 10

QID : 44 - The ratio of total surface area and volume of a sphere is 1 : 7. This sphere is melted to form small spheres of equal size. The radius of each small sphere
is 1/6t" the radius of the large sphere. What is the sum (in cm?2) of curved surface areas of all small spheres?

Teh IiTel o ool TSI &TTtel AT AT T 3T 1 : 7 ¥l 5 el il AL SRISR 1T o BIe Il T4 STt § 1 Fedieh DI el 1 F3oam a3 aivel &y sar & 1/6
g1 |9 B aitell & a5 ISR statet FT AT (J.7.2 ) T §?

Options:

1) 31276

2) 36194

3) 25182
4) 33264

Correct Answer: 33264
Candidate Answer: 25182
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QID: 45 -

A hemisphere is kept on top of a cube. lis
front view is shown in the given figure. The
total height of the figure is 21 cm. The ratio of
curved surface area of hemisphere and total
surface area of cube is 11 : 42. What is the
total volume (in cm?®) of figure?

U& ST UF O WX W@ AT | SES
THA H T HHIa H AT =T g
Wefa f For Far$ 21 WAL 31 andele &
g% JEOIT &lFme JUT U & Fdl eI
8BS FT AT 111 42 | HPT T FA
AT (THE ;) 2w g2

e

Options:

1) 3318.33
2) 3462.67
3) 3154.67
4) 3248.33

Correct Answer: 3462.67
Candidate Answer: [ NOT ANSWERED ]

QID : 46 - A solid cube has side 8 cm. It is cut along diagonals of top face to get 4 equal parts. What is the total surface area (in cm?) of each part?

T BN BT &7 7T 8 W, ¥1 T IR TeAg & Aol o 4 GATS S 7 T AT § | Fed 1T S ol TSR avAhet (F.34.2 ) 7 §2

Options:

1) 96 + 64v2
2) 80 + 64v2
3) 96 + 48v2
4) 80 + 48V2

Correct Answer: 96 + 64v2
Candidate Answer: [ NOT ANSWERED ]

QID : 47 - A regular pyramid has a square base. The height of the pyramid is 22 cm and side of its base is 14 cm. Volume of pyramid is equal to the volume of a
sphere. What is the radius (in cm) of the sphere?

T A TS 7 3R vk 797 §1 RfAs & Sarg 22 9. § awr 36F 3mar B e 14 A &1 RS 1 3mrae v e & 3rde & S g1 e i Bsar
(@5 7)) Fr ?

Options:
1)

349

2)7
3) 14
4)

598
Correct Answer: 7
Candidate Answer: 7

QID : 48 - What is the value of [sin (y —z) + sin (y + z) + 2 sin y]/[sin (x — z) + sin (x + z) + 2 sin x]?

[sin (y —2) + sin (y + z) + 2 sin y)/[sin (x — z) + sin (x + z) + 2 sin x] 3T AT FIT §?
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Options:

1) cos xsin y

2) (sin p)/(sin x)

3)sin z

4) sin xtan y

Correct Answer: (sin y)/(sin x)

Candidate Answer: [ NOT ANSWERED ]

QID : 49 - What is the value of {[sin (x + y) — 2 sin x + sin (x = y)]/[cos (x —y) + cos (X + y) — 2 cos x]} x [(sin 10x — sin 8x)/(cos 10x + cos 8x)]?

{[sin (x + y) — 2 sin x + sin (x — y)]/[cos (x — y) + cos (x + y) — 2 cos x]} x [(sin 10x — sin 8x)/(cos 10x + cos 8x)] T AT FAT &?
Options:

1)0

2) tan? x

3)1

4) 2 tan x

Correct Answer: tan? x

Candidate Answer: 0

QID : 50 - What is the value of [sin (90° — 108) — cos (p — 68)]/ [cos (p/2 — 108) — sin (p — 66)]?

[sin (90° — 108) — cos (p — 66)]/ [cos (p/2 — 108) — sin (p — 66)] T AT FAT §?

Options:
1) tan 26
2) cot 26
3)cotB

4) cot 36

Correct Answer: cot 26
Candidate Answer: tan 260

QID : 51 - If sec 8 (cos 6 + sin 8) = V2, then what is the value of (2 sin 8)/(cos 8 — sin 8)?

Ife sec B (cos O + sin B) = V2 &, a (2 sin B)/(cos 8 — sin B) T AT FAT &?
Options:

1) 3v2

2) 3/V2

3) 1/V2

4)V2

Correct Answer: V2

Candidate Answer: [ NOT ANSWERED ]

QID:52-

What is the value of
1 1

L 9
sin“(90-6) [cos*(90-6)]-1

1 . 1
sin*(90-6) [ cos*(90-6)]-1

T AT 4T g7

Options:

1) tan? 8 sec? 0

2) sect @

3)tan* 8

4) tan? 0 sin? B

Correct Answer: tan? 8 sec? 8
Candidate Answer: [ NOT ANSWERED ]

QID : 53 - What is the value of [tan (90 — A) + cot (90 — A)]%/[2 sec? (90 — 2A)]?

[tan (90 — A) + cot (90 — A)1%/[2 sec? (90 — 2A)] T HIeT T £?
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Options:
1)0
2)1
3)2
4)-1
Correct Answer: 2
Candidate Answer: 2

QID : 54 - What is the value of {sin (90 — x) cos [n — (x — y)]} + {cos (90 — x) sin [n — (y — x)]}?

{sin (90 — x) cos [ — (x — y)]} + {cos (90 — x) sin [n — (y — X)]} ST A T &7?
Options:

1) -cos y

2) -sin y

3) cos x

4)tan y

Correct Answer: -cos y

Candidate Answer: [ NOT ANSWERED ]

QID : 55 - The angle of elevation of an aeroplane from a point on the ground is 60°. After flying for 30 seconds, the angle of elevation changes to 30°. If the
aeroplane is flying at a height of 4500 m, then what is the speed (in m/s) of aeroplane?

AT W U g & Teh §aTS STETo T Sewtded HI0T 60° §1 30 HhUS 351 o ULHId, Seaidad 10T 30° & qRafcled g ST &1 I §ars STerer 4500 #. 1 F1$ 0 35 QT
¥, ar gars Sterer & Aty (#./A. A) FAr 2

Options:

1) 50v3

2) 100v3

3) 200v3

4) 300V3

Correct Answer: 100vV3
Candidate Answer: 100v3

QID : 56 - A kite is flying in the sky. The length of string between a point on the ground and kite is 420 m. The angle of elevation of string with the ground is 30°.
Assuming that there is no slack in the string, then what is the height (in metres) of the kite?

Teh YT 3ThTeT & 35 T B | ATl X Ueh g F T eh 4131 Y ofa=a1S 420 1. & | HeTed F 4137 i So12ieT hior 30° 1 Al NTAT Y &y & s Srofraet =7e 8, ar s
&1 s (sfex ) FAr g

Options:

1)210

2) 140V3

3) 210v3

4) 150

Correct Answer: 210
Candidate Answer: 210

QID : 57 - A balloon leaves from a point P rises at a uniform speed. After 6 minutes, an observer situated at a distance of 450v3 metres from point P observes that
angle of elevation of the balloon is 60°. Assume that point of observation and point P are on the same level. What is the speed (in m/s) of the balloon?

Teh ISRT Ueh FHT 31Tt & 197G P & BIST Sl &1 6 AeTe qeend, fdeg P & 450v3 HieX gl X Ueh HHlaTeh § ST a@al & 1% sk &1 Seeidied 10T 60° 8| HIA AT foh
THIET f9eg T foeg P ok €1 T WX & | I[eaR T a1y (#A1,/4. #) Far g2

Options:

1) 4.25

2)3.75

3) 4.5

4)3.45

Correct Answer: 3.75
Candidate Answer: 4.25
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QID : 58 -

The table given below shows the information about bats

manufactured by 6 different companies. Each company

manufactures only plastic and wooden bats. Each company

labels these bats as Brand A or Brand B. The table shows

the number of plastic bats as a percentage of total bats

manufactured by each company. It also shows the ratio of

wooden bats labeled A and B. Each company manufactured

a total of 550000 bats.

A & o afewr 6 Rfiea FafeRl @/ Scafea ot
& a H et 7 gefieh 81 v Sl dae confecs
T TFT F dool F Icded Tl gl Todd w9l o
geell T FUE A Hudr gwE B ¥ ¥ F dg@ < B
e 7 Yedeh &9l gal Icafed Fe deel & Wiowd
F w9 ¥ tonffes & el 1 wear 0 g aar #oag
A T B #VS & WSl & deoll & Hepdra & A guuich #
JeU FTll F ScARHA Feol 550000 deet gl

Company / Plastic bats / Brand A : Brand B/
FHIAT CHAlFCH & ded | WS A : §0E B

R 55% 21:4
5 70% 8:7

T 45% 6:19
U 75% 4114
v 60% 7:15
W 40% 5:6

What is the total number of wooden bats of brand A manufactured by company T?

FHOAT T ZaRT ScTIfee STUS A & oohal o Sl ohl el TCAT T 82

Options:
1) 23420
2) 22990
3) 68920
4) 72600
Correct Answer: 72600

Candidate Answer: [ NOT ANSWERED ]
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QID : 59 -

The table given below shows the information about bats

manufactured by 6 different companies. Each company

manufactures only plastic and wooden bats. Each company

labels these bats as Brand A or Brand B. The table shows

the number of plastic bats as a percentage of total bats

manufactured by each company. It also shows the ratio of

wooden bats labeled A and B. Each company manufactured

a total of 550000 bats.

A & o afewr 6 Rfiea FafeRl @/ Scafea ot
& a H et 7 gefieh 81 v Sl dae confecs
T TFT F dool F Icded Tl gl Todd w9l o
geell T FUE A Hudr gwE B ¥ ¥ F dg@ < B
e 7 Yedeh &9l gal Icafed Fe deel & Wiowd
F w9 ¥ tonffes & el 1 wear 0 g aar #oag
A T B #VS & WSl & deoll & Hepdra & A guuich #
JeU FTll F ScARHA Feol 550000 deet gl

Company / Plastic bats / Brand A : Brand B/
FHIAT CHAlFCH & ded | WS A : §0E B

R 55% 21:4
5 70% 8:7

T 45% 6:19
U 75% 4114
v 60% 7:15
W 40% 5:6

N = Wooden bats of Brand B manufactured by U.
M = Total wooden bats manufactured by R and W together.
What is the value of N/M?

N = U ganT 3cq1fed STUS B & ofehsl & Toel|
M = R &7 W ZaRT e ScaTied el dool|
N /M &T HIT 7 §7?

Options:

1) 0.043

2) 0.061

3) 0.125
4) 0.087

Correct Answer: 0.061
Candidate Answer: [ NOT ANSWERED ]
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QID : 60 -

The table given below shows the information about bats

manufactured by 6 different companies. Each company

manufactures only plastic and wooden bats. Each company

labels these bats as Brand A or Brand B. The table shows

the number of plastic bats as a percentage of total bats

manufactured by each company. It also shows the ratio of

wooden bats labeled A and B. Each company manufactured

a total of 550000 bats.

A & o afewr 6 Rfiea FafeRl @/ Scafea ot
& a H et 7 gefieh 81 v Sl dae confecs
T TFT F dool F Icded Tl gl Todd w9l o
geell T FUE A Hudr gwE B ¥ ¥ F dg@ < B
e 7 Yedeh &9l gal Icafed Fe deel & Wiowd
F w9 ¥ tonffes & el 1 wear 0 g aar #oag
A T B #VS & WSl & deoll & Hepdra & A guuich #
JeU FTll F ScARHA Feol 550000 deet gl

Company / Plastic bats / Brand A : Brand B/
FHIAT CHAlFCH & ded | WS A : §0E B

R 55% 21:4
5 70% 8:7

T 45% 6:19
U 75% 4114
v 60% 7:15
W 40% 5:6

P = Sum of wooden bats of Brand B manufactured by S and wooden bats of Brand A manufactured by W.
Q = Difference of Brand B wooden bats and Brand A wooden bats manufactured by U.

What is the value P — Q?

P = S @RI 3cUTfed S1US B & sl & ool aUT W GaRT 3cUTied STUS A & olehsl & dodll &l AT
Q = U anT 3ca1fed STUS B & olehal & Sedll a2l STUS A & Thsl & dodl &l Aol |

P - Q& AT FTE?

Options:

1) 67500

2) 177700

3) 159500

4) 123500

Correct Answer: 159500

Candidate Answer: [ NOT ANSWERED ]
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QID: 61 -

The table given below shows the information about bats

manufactured by 6 different companies. Each company

manufactures only plastic and wooden bats. Each company

labels these bats as Brand A or Brand B. The table shows

the number of plastic bats as a percentage of total bats

manufactured by each company. It also shows the ratio of

wooden bats labeled A and B. Each company manufactured

a total of 550000 bats.

A & o afewr 6 Rfiea FafeRl @/ Scafea ot
& a H et 7 gefieh 81 v Sl dae confecs
T TFT F dool F Icded Tl gl Todd w9l o
geell T FUE A Hudr gwE B ¥ ¥ F dg@ < B
e 7 Yedeh &9l gal Icafed Fe deel & Wiowd
F w9 ¥ tonffes & el 1 wear 0 g aar #oag
A T B #VS & WSl & deoll & Hepdra & A guuich #
JeU FTll F ScARHA Feol 550000 deet gl

Company / Plastic bats / Brand A : Brand B/
FHIAT CHAlFCH & ded | WS A : §0E B

R 55% 21:4
5 70% 8:7

T 45% 6:19
U 75% 4114
v 60% 7:15
W 40% 5:6

Taking all 6 companies together, how many wooden bats of Brand A have been produced?

T 6 FHuferal T AT, F1U5 A & fhdel sl & Toof T I §7

Options:

1) 691000

2) 724000

3) 683000

4) 716000

Correct Answer: 691000

Candidate Answer: [ NOT ANSWERED ]
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QID:62-

The table given below shows the information about bats

manufactured by 6 different companies. Each company

manufactures only plastic and wooden bats. Each company

labels these bats as Brand A or Brand B. The table shows

the number of plastic bats as a percentage of total bats

manufactured by each company. It also shows the ratio of

wooden bats labeled A and B. Each company manufactured

a total of 550000 bats.

A & 5 arfee 6 fafise ot gErr Iofea aedr
& A Siermll FF gl §) Scde Sl Saer confFed
T TR F dcell W IcTGS AT gl FAE HUdl T
geell T FUE A Hudr gwE B ¥ ¥ F dg@ < B
e 7 Yedeh &9l gal Icafed Fe deel & Wiowd
& T 7 olffes & doel 9T HEAr A gefmw arar ¥ ag
A T B AIVS & OFE & deoll & aaa & off g &
JeU FTll F ScARHA Feol 550000 deet gl

Company / Plastic bats / Brand A : Brand B/
FHIAT CHAlFCH & ded | WS A : §0E B

R 55% 21:4
5 70% 8:7

T 45% 6:19
U 75% 4114
v 60% 7:15
W 40% 5:6

X = Average of plastic bats manufactured by V, U and T.
Y = Wooden bats of Brand A manufactured by V.
What is the value X - Y?

X =V, Uddr T ganT 3cdTied Talliees & Jedl &l 3rad|
Y = V @RI 3cuIfee 105 A & Whsl & dodl|

X — Y T AT AT §?

Options:

1) 197600

2) 432890

3) 260000
4) 293300

Correct Answer: 260000
Candidate Answer: [ NOT ANSWERED ]

QID : 63 - A drum contains 80 litres of ethanol. 20 litres of this liquid is removed and replaced with water. 20 litres of this mixture is again removed and replaced
with water. How much water (in litres) is present in this drum now?

Teh 37 3 80 e 5AATeT &1 5 aRel Terd & 20 ofieX Tl T 1 & 3R 39 ureh & wfaeanfia foam Sirar 1 53 f&vsror Y 20 Sfex A &t R & Serer irar § 3R
Tl & wfcrenfad Rrar ST §1 319 39 34 3 fhaew areit (Fex 7) #isig 82

Options:

1) 45

2) 40

3)35

4) 44

Correct Answer: 35

Candidate Answer: 35

QID : 64 - An alloy is made by mixing metal A costing Rs 2000/kg and metal B costing Rs 400/kg in the ratio A:B = 3:1. What is the cost (in Rs) of 8 kilograms of
this alloy?

T fAS 41 T 2000 & / f6.a. eTe arelr &g A 31X 400 & / foh.am. orerey arell e BT A : B = 3 : 1 370l & fRAOT & S e &1 39 A arg o 8 fr.amm. &t
T (T H) T gIm?

Options:

1) 1600

2) 9800

3) 6400
4) 12800

Correct Answer: 12800
Candidate Answer: 12800
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QID : 65 - A, B and C invest to start a restaurant. The total investment was Rs 3 lakhs. B invested Rs 50,000 more than A and C invested Rs 25,000 less than B. If
the profit at the end of the year was Rs 14,400 then what is C's share of the profit (in Rs)?

A, B 3R C Toh W & I & e fader e & Fel fo¥dr 3 o & ATl B ¥ A T efell # 50,000 % &7 3118 fAaer fFar 3iR C a7 B & 25,000 & &7 el aer fmam)
e Arer & 31T F 31T 187 14,400 T 2T, Y 39 1A & C 7 R a1 § (T H)?

Options:
1) 3600
2) 4800
3) 6000
4) 7200

Correct Answer: 4800
Candidate Answer: 4300

QID : 66 - Two businessmen A and B invest in a business in the ratio 5 : 8. They decided to reinvest 30% of the profit they earned back into the business. The
remaining profit they distributed amongst themselves. If A's share of the profit was Rs 87,500 then how much profit (in Rs) did the business make?

ar saRET A SR B A 5 1 8 & 3eqUT & Ueh HRISR & f¥aer fhar| 3wgie s7aary & H1C 10 @1y & 30% U=RITRY 7 YeATeraer e i fAorer foar| A ofrer 1 swgier
g & a7 f3aRa = o) 3PR arer 7 A &7 99 87,500 T0 AT, Y 39 SRIGR & hdeIr omeT (9 ) g3m

Options:

1) 227000

2) 250000

3) 375000

4) 325000

Correct Answer: 325000
Candidate Answer: 325000

QID : 67 - Working alone A can do the task in 27 hours and B can do it in 54 hours. Find C's share (in Rs) if A, B and C get paid Rs 4,320 for completing a task in 12
hours on which they worked together.

ma:r&aﬂ?rgtm 27 G H F T G W el § X B 3 54 B 7 FX FhelT &1 C 3 IR &M 9T #T (T ) IR A, B 3R C T 12 6 3 vah 1 Q7 ¢t & faiw
4,320 % T 3TNl TR B, T H O 3gial Teh |1 sh1a fhar |

Options:

1) 1440

2) 960

3) 1920

4) 1280

Correct Answer: 1440
Candidate Answer: 1440

QID : 68 - If A had worked alone he would have taken 63 hours to do the task. What is B's share, if A and B work together on a task finishing it in 36 hours and
they get paid Rs 5,950 for it?

e A o 3het I AT 81T aY I8 FIHT et & ToIT 63 €& oIdT| B T fREAT T 8191, 3PR A 31X B U 1Y H1H b 38 36 € 7 AT i ¢ 31X 59 T 5,950
I T AT FRAT ST 82

Options:

1) 3400

2) 3600

3) 2550
4) 2750

Correct Answer: 2550
Candidate Answer: 2550

QID : 69 - Working together A, B and C can complete a task in 12 days. A and B can do the task in 55 days and 66 days respectively if they worked alone. In how
many days can C do the task if he worked alone?

wﬁam‘rmgtrA, B 3R C 12 &1 o var o qu &< Hahdt &1 IS I 31ehor-31ahel 19T & §, o A 3R B aer: 55 et 31K 66 el 3 a5 #d qu Y &t &1 I
g6 A ehel C YT 8, ol 3 HIHA & dg fohclal Tl 7 G AT Fehell 7

Options:

1) 22

2) 44

3)20

4) 40

Correct Answer: 20

Candidate Answer: 20
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QID : 70 - B would have taken 10 hours more than what A would have taken to complete a task if each of them worked alone. Working together they can complete
the task in 12 hours. How many hours would B take to do 50% of the task?

B &I Ueh &8 G A & TAIT A BT Jolell 7 10 6 31Tk FHT ofTell, IR 397 § Gedeh o 3iehol-3ehel 1A R gielT | Wmmmgaammaﬁlza%ﬁqgr
FX Ghd &1 B B 3T HTH AT 50% Ftet & foIT fohdey € oI3rar?

Options:

1) 30

2) 15

3)20

4) 10

Correct Answer: 15

Candidate Answer: [ NOT ANSWERED ]

QID : 71 - Giving two successive discounts of 20% is same as giving one discount of %.

20% T SRR & Te &l % % Teh FE &t o WA g
Options:

1) 36

2) 40

3) 44

4) 50

Correct Answer: 36

Candidate Answer: 36

QID : 72 - A retailer marks up his goods by 150% and offers 40% discount. What will be the selling price (in Rs) if the cost price is Rs 800?

Teh Greeh] Tashdll 3T9e1 ATHT T Hod 150% T TG Jifehel el & 3R 40% T T ST &1 39N a&] 1 Hed 800 ¥ &, Al 3HAT okl o (29 &) T am?

Options:
1) 1200
2) 1500
3) 1000
4) 2000

Correct Answer: 1200
Candidate Answer: 1200

QID : 73 - On a television of brand A the discount is 25% and on television of brand B the discount is 40%. The price of B after discount Rs 2,250 greater than the
price of A after discount. What is the marked price of A (in Rs) if marked price of B is Rs 35,000?

S5 A & Ueh olldiotal 9Y 25% 1 Te ¢ 3R 5115 B & clifasiel W 40% 1 9 &1 T & d1e, B 9T Hod B & dc, A & Hod ¥ 2,250 39 38 &1 A &1 3ifhd Hod
(¥ #) 1 §, AR B 1 3ifhd e 35,000 T9 §?

Options:

1) 18750

2) 21000

3) 25000
4) 17850

Correct Answer: 25000
Candidate Answer: 25000

QID : 74 - If 60% discount is offered on the marked price and selling price becomes equal to cost price then what was the % mark up?

i e FoT T 60% T T TR T ST & 3N IS 7o ST oo o sa gF Sielt &, A o fohelel % & TG 3ifehet feha arar am?

Options:

1) 100

2) 250

3) 150

4) 40

Correct Answer: 150
Candidate Answer: 150

QID:75-1f 3A=6B =9C; WhatisA:B:C

IE3A=6B=9C, dATA:B:CFaT§?
Options:

1)6:3:1

2)6:3:2

3)9:3:6

4)9:3:1

Correct Answer: 6: 3 : 2

Candidate Answer: 6:3:2
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QID : 76 - How many job applicants had applied if the ratio of selected to unselected was 19:17. If 1,200 less had applied and 800 less selected, then the ratio of
selected to unselected would have been 1:1.

atendl & AT fohcier 3mdeet = 3desT fahar o, i Tafad 3 I-aafard mdest & e &1 3qard 19:17 41| A 1,200 H& el o 3desT T giar 3ik 800
HAEH HH gt ST, ar =t 3R I-wrafora smdeet & o &1 3reqare 1: 1 g

Options:

1) 6000

2) 7200

3) 8400

4) 4800

Correct Answer: 7200
Candidate Answer: 7200

QID : 77 - What is the third proportional to 10 and 20?

10 3R 20 & forw e neguTfciss o 82
Options:

1) 30

2) 25

3)50

4) 40

Correct Answer: 40

Candidate Answer: [ NOT ANSWERED ]

QID : 78 - The ratio of the sum of the salaries of A and B to the difference of their salaries is 11:1 and the ratio of the sum of the salaries of B and C to the
difference of their salaries is also 11:1. If A's salary is the highest and C's is the lowest then what is B's salary (in Rs) given the total of all their salaries is Rs
1,82,000?

A 3R B & dcfel & 9T 3R 3ofeh AcTeT o 3l T 3T 11:1 § 3R B 31X C & IeT & A1 3R 3e7eh AcfoT & A &7 3farer o 11:1 §1 3R A T dcfel Ha& STl § 3R
C T deleT T e 8, Al B T dcfel (T ) FT &, &1 711 & 1% So7eh1 Foot ko 1,82,000 % &2

Options:

1) 72000

2) 60000

3) 50000
4) 86400

Correct Answer: 60000
Candidate Answer: [ NOT ANSWERED ]

QID : 79 - If by increasing the price of a ticket in the ratio 8:11 the number of tickets sold fall in the ratio 23:21 then what is the increase (in Rs) in revenue if
revenue before increase in price of ticket was Rs 36,8007

I 8:11 & 3equret F ehe & Heg & gig &1 el § ot 9= I el iy Feam 7 23:21 3reara ﬁﬁwm%,ﬁmﬁﬁaﬁ(xﬁ)w%,mﬁwﬁwﬁ
gfg & Jgr TeTed 36,800 & AUT?

Options:

1) 21250

2) 9400

3) 7850

4) 12850

Correct Answer: 9400
Candidate Answer: 9400

QID : 80 - The ratio of ages of the father and mother was 11:10 when their son was born. The ratio of ages of the father and mother will be 19:18 when the son
will be twice his present age. What is the ratio of present ages of father and mother?

AT 31 A7 &1 337 T AT 11:10 2T, S Sofeh & T ST G317 AT| FAAT 3R AT 6 397 1 o1 19:18 NI, ST TH 1 3T 319 T I § e[ g1 S e
IR AT % IAATT 3T T T T 82

Options:

1)15: 14

2)14: 13

3)16: 15

4)17: 16

Correct Answer: 15 : 14

Candidate Answer: [ NOT ANSWERED ]

QID : 81 - Of the 3 numbers whose average is 22, the first is 3/8t the sum of other 2. What is the first number?

3 TEan3it & }, [Sarer 3 22 &, ugely &7 oY 31 TEAT3T & J9T T 3/8-aT REaT §1 Igell H&AT 41 87
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Options:
1) 16
2) 20
3)22
4) 18
Correct Answer: 18
Candidate Answer: 18

QID : 82 - The average of three consecutive odd numbers is 52 more than 1/3" of the largest of these numbers. What is the smallest of these numbers?

TR o7 v TEam3it &1 3ad 57 O a8 937 T&AT & 1/3 I 52 310 §1 518 & o SIET T&IT F271 872
Options:

1) 79

2)75

3)81

4) 77

Correct Answer: 77

Candidate Answer: 77

7th

QID : 83 - A batsman scores 98 runs in the 17t match of his career. His average runs per match increased by 2.5. What is his average before the 17™" match?

Teh ToolaTsl o 39T HRIT & 17-d FT 7 98 T =1 | 38F Uia &= 3itaa &t 7 2.5 aﬁraﬁg*gé| 17-8 FT | ygel 3T AT FATR?
Options:

1) 58

2) 60.5

3)63

4)55.5

Correct Answer: 55.5

Candidate Answer: 55.5

QID : 84 - What is the average of all numbers between 100 and 200 which are divisible by 13?

100 31X 200 & &= & ol Teamstt &1 g Far g, 5 13 @ s g

Options:
1) 147.5
2) 145.5
3) 143.5
4) 149.5

Correct Answer: 149.5
Candidate Answer: 143.5

QID : 85 - A vendor buys bananas at 9 for Rs 8 and sells at 8 for Rs 9. What will be the profit or loss (in %)?

T fashall 8 & 7 9 hel TG & 31X 9 T 3 8 Shol SIecll &1 SHERT o187 IT FehdTeT (% F) T G2
Options:

1) 13.28% profit

13.28% oImeT

2) 26.56% loss

26.56% sTHdTT

3) 26.56% profit

26.56% <

4) 13.28% loss

13.28% s{shdret

Correct Answer: 26.56% profit
26.56% <ITH

Candidate Answer: 26.56% profit
26.56% T

QID : 86 - If a stall sells a pizza at Rs 200 he makes 20% loss if he wants to make 10% profit then at what price (in Rs) should he sell?

I IS Telar 200 T H st S=rar & A 3§ 20% &7 JHA &I 8, 3R a6 10% o1t Ao T =mgan §, A 39 v #7{og & (3 &) duar =fgw?

Options:

1) 250

2) 300

3) 275

4) 325

Correct Answer: 275
Candidate Answer: 275
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QID : 87 - A wholesaler had 200 dozens of mangoes. He sold some of these mangoes at 20% profit and the rest at 10% profit, so that he made 13% profit on
selling all the mangoes. How many mangoes (in dozens) did he sell at 20% profit?

Teh Yok SATIRT & UIE 200 Eolet 3T &| 3HA 378 & Ty 3TAT T 20% 18T I 3R AT ITAT ST 10% 18T I o<l ofifeh a8 Tl AT By Swied TR 13% 3T AT Heb |
3T 20% T TR fhetar 31 (Sotatt &) ai?

Options:

1) 140

2) 60

3)80

4) 120

Correct Answer: 60

Candidate Answer: 60

QID : 88 - If the selling price is tripled and cost price doubled the profit would become 65%. What is the present profit (in %)?

T kT 1 e et I § 3R AT He QLT 81 A oIt 65% & STVl | Hisper amst (% &) 4 §?
Options:

1) 20

2)15

3) 25

4) 10

Correct Answer: 10

Candidate Answer: 10

QID : 89 - 0.06% of 250% of 1600 is

1600 & 250% T 0.06% & STeR g1
Options:

1) 24

2)0.24

3) 0.024

4)2.4

Correct Answer: 2.4

Candidate Answer: 2.4

QID : 90 - Two numbers are 90% and 75% lesser than a third number. By what % should the first number be increased so that it becomes equal to the second
number?

& HEATT T T HEAT ¥ 90% 3R 75% 9 | TEel HEAT 7 et % 7 gfg @1 ST arfew a1 a5 qudt HEm & SE gr She?
Options:

1) 250

2) 200

3) 150

4) 100

Correct Answer: 150

Candidate Answer: 150

QID : 91 - When a number is increased by 216, it becomes 140% of itself. What is the number?

S foral) TEaT Y 216 T SoTAT ST &, Al Tg T T 140% & ST &1 98 T&AT .47 87

Options:

1) 540

2) 756

3) 450

4) 675

Correct Answer: 540

Candidate Answer: 540

QID : 92 - A man donates 30% of his wealth to charity. 30% and 25% of the remaining wealth to his wife and son respectively. The rest he divides equally between
his three daughters. One of his daughter gets Rs 42 lakh as her share. What was the man's wealth (in Rs lakhs)?

U i 3790 Tufed T 30% HET U e TEAT Y &l il &1 AT TR T shaer: 30% 31T 25% AT 3191 Toait 31 9 1 T &1 SThl YeRIfRY @ 319eiT el
afet & e AT T A e aar 81 suh afedt F @ v w1 42 1@ & Ao §1 39 e f For dufea (@ T A) F2r A

Options:

1) 280

2) 400

3) 500

4) 350
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Correct Answer: 400
Candidate Answer: 400

QID : 93 - A bus travels 720 km in 20 hours. Calculate its average speed in meters/second.

TS 59 20 & F 720 .7, 7 Ir=1 a7 FY §1 FHex / s 7 s@dhy ad aifa i 7o Hi
Options:

1) 12

2) 15

3)18

4) 10

Correct Answer: 10

Candidate Answer: 10

QID : 94 - If a boat goes upstream at a speed of 21 km/h and comes back the same distance at 28 km/h. What is the average speed (in km/hr) for the total
journey?

3R T #A1a 21 fhelteiex gfer € &1 a1f & Farg & faudie STl & 31 28 fheiaiex ufer 6 1 afer & 33 gl e ara 37Tl &, T Foof AT 1 3 a1fey (Fhetrediex /
TeT) Fa7 §?

Options:

1) 24.5

2) 24

3)25

4) 25.4

Correct Answer: 24

Candidate Answer: 24

QID : 95 - Two runners A and B start running at 12 km/hr and 16 km/hr towards each other. They meet after 1 hour and 30 minutes. How far (in km) were they
from each other when they started?

ar eraet A 3R B & 12 k.. / €er 3R 16 TR / et Y 1 & woh-g@Y Y U alser [ fohar| 9 e 8 3R 30 fAeTe & S1g 3T # fAel| ge i §HY I TR
GER ¥ fohefelt g (fem. T, #) &2

Options:

1) 42

2) 36

3) 40

4) 45

Correct Answer: 42

Candidate Answer: 42

QID : 96 - Flight A usually takes 1 hour more than Flight B to travel a distance of 7200 km. Due to engine trouble speed of flight B falls by a factor of 1/6th, so it
takes 36 minutes more than Flight A to complete the same journey? What is the speed of Flight A (in km/hr)?

35T A &1 ATHAR TR 7200 Freliefiel &1 gt o &3l & U 387 B & 1 &er 3118 oferall §1 Sofel H TR 3ol T aoie & 351 B Y a1fet 1/6 & Toh &Reh & ol Ix
STl §, afoT 38 AT H Ol IR & T 331 B #1351 A Fr JoeT 3 36 feTe e oot 1 337 A (freiefiex / wer) i a1 &/ g7

Options:

1) 800

2) 900

3) 750

4)720

Correct Answer: 800
Candidate Answer: 800

QID : 97 - In how many years will Rs 2,000 yield Rs 662 as compound interest at 10% per annum compounded annually?

AT TG & I0TeAT HI §T 10% T ¥ arf¥ieh Tshaffig samer 1 ax & 2,000 & A vt ast & 662 9w A

Options:

1)3

2)2

3)4

4)5

Correct Answer: 3
Candidate Answer: 3

QID : 98 - What is the compound interest earned on Rs 80,000 at 40% per annum in 1 year compounded quarterly?

TATEY MR W% 1 9§ 3 iy a¥ 40% ¥ &7 & 80,000 TUAT T TSl Tshqfg TSl T G912
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Options:
1) 28317
2) 37128
3) 18732
4) 21387
Correct Answer: 37128

Candidate Answer: 37128

QID : 99 - An investor invested his saving in the stock market. The value of his investments increased by 12% and 9% in the first year and the second year
respectively. If the value of his investments after two years became Rs 97,664 then how much had he invested (in Rs)?

ek AR A QAT SIS 3 3r9=AY St T 2T fhar| 3wk a2 & a7 A AR Tgel I 7 12% AR @ 9 7 9% qfg §$1 A &Y Arel & S1g 380 A3 7 {e7
97,664 & 81 I, Al 3= fehetell foiaer (& #) fovar ar?

Options:

1) 81000

2) 75000

3) 80000
4) 72000

Correct Answer: 80000
Candidate Answer: 80000

QID : 100 - What is the rate of interest (in %) if simple interest earned on a certain sum for the 3 years is Rs 6,000 and compound interest earned for 2 years is Rs
4,160?

ST & (% F) F1 8, afe v fARRaa afiRr 0¥ 3 |rer & fw 31 ATemoT sa1eT 6,000 % 3R 2 #1er & v 3ifoiar whgfe sarsr 4,160 & 872
Options:

1)9

2)8

3)12

4)6

Correct Answer: 8

Candidate Answer: 8
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